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Question Number : 1 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
In the density measurement of a cube, the

mass and edge length are measured as
(10.00+£0.10) kg and (0.10£0.01) m,
respectively. The error in the measurement
of density is :

Options:



, 0.10kg/m’

% 0.07 kg/ m’

. 031kg/m’

, 0.01kg/m’
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Options:

, 0.10kg/m’

5 0.07 kg/ m’

o 0.31 kg/ m’

4 0.01 kg/ m’

Question Number : 1 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

, 0.10kg/m’

5 0.07 kg/ m’

o 0.31 kg/ m’

4 0.01 kg/ m’



Question Number : 2 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The stream of a river isflowing with a speed
of 2 km/h. A swimmer canswim ata speed
of 4 km/h. What should be the direction
of the swimmer with respect to the flow of

the river to cross the river straight ?
Options:
1 150°

z. 60°

g A

120°
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Correct Marks: 4 WrongMarks: 1
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Options:

1 1507

z. 60°

o 0°

120°

Question Number : 2 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

518 25 AdlHl 4Rt 2 km/h -l s2owel ad 8.
w5 el 4 km/h @l sovEl adl 2 5. 24
gl el W st 2 dzdeedl dews el
(z2u 2] €al?

Options:



150°

1

2. 60°
= 0°
, 120°

Question Number : 3 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A ball is thrown vertically up (taken as
t+ z-axis) from the ground. The correct
momentum-height (p-h) diagram is :

Options:
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Correct Marks: 4 Wrong Marks: 1
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Question Number : 4 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

A body of mass 2 kg makes an elastic
collision with a second body at rest and
continues to move in the original direction
but with one fourth of its original speed.
What is the mass of the second body ?

Options:

;. 1.5kg

1.2kg
n 1.0kg

5 1.8 kg
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;. 1.5 kg

"
5 1.2kg

n 1.0kg

g 1.8 kg
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Options:

, 15kg

, 12kg

n 1.0kg

y 1.8 kg
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No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A uniform cable of mass ‘M’ and length ‘L’

is placed on a horizontal surface such that

th
i
its {;W part is hanging below the edge
ny

of the surface. To lift the hanging part of
the cable upto the surface, the work done
should be :

Options:
MgL

2
1 1

2MgL
o 112

‘Mgl

=3 ?_112

nMgL
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Correct Marks: 4 WrongMarks: 1
The following bodies are made to roll up
(without slipping) the same inclined plane
from a horizontal plane : (i) a ring of
radius R, (ii) a solid cylinder of radius
R R
B and (iii) a solid sphere of radius 7 If,
in each case, the speed of the center of mass
at the bottom of the incline is same, the ratio
of the maximum heights they climb is :

Options:

1. 4:3:2

5 14 :15: 20

o 10:15:7

g BN ¢
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. 4:3:2

5 14 :15: 20

o 10:15:7
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Question Number : 7 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A stationary horizontal discis free to rotate

about its axis. When a torque is applied on
it, its kinetic energy as a functionof 8, where
B is the angle by which it has rotated, is
given as ko= If its moment of inertia is I

then the angular acceleration of the discis:

Options:
kq
.
)
%,
2 1
Xy
21
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Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A solid sphere of mass ‘M’ and radius’a’ is
surrounded by a uniform concentric
spherical shell of thickness 2a and mass ZM.
The gravitational field at distance "3a’ from

the centre will be :
Options:
GM
1 L.iaz
2GM
o E&az
GM
3 3a
2GM
¥
g Fa”™

Question Number : 9 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Fora given gas at1atm pressure, rms speed

of the molecules is 200 m/s at 127 °C. At2
atm pressure and at 227 °C, the rms speed
of the molecules will be :
Opf[ions:

1 100+/5 m /s

5 H[w’g m/'s

100 m/s

4 80 m/s

Question Number : 9 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
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Opjcions:

, 1005 m/s

5 H[w’g m/s

100m/s

4 80m/s
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1 atm ECUGL U, 127°C 2L 2AUe syl 240l
rms 354 200 m/s . 2 atm Eellel W i
227°C = 24 2epil-l rms 264 il
Opf[ions:

, 1005 m/s

5 H[I\E m/'s

100 m/s

4 80m/s

Question Number : 10 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A simple pendulum oscillating in air has
period T. The bob of the pendulum is

completely immersed in a non-viscous

1
liquid. The density of the liquid is Eﬂl of

the material of the bob. If the bob is inside
liquid all the time, its period of oscillation
in this liquid is :

Options:
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Question Number : 11 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Following figure shows two processes
A and B for a gas. If AQ , and AQ); are the
amount of heat absorbed by the system in
two cases, and AU  and AU, are changes

in internal energies, respectively, then :

Options:

1.
, AQ,>AQ;, AU, > AU,

5 AQ4>AQy, AU, = AU

AQ, <AQy, AU, <AU,
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Options:

5 AQ,>AQy, AU, > AUy
5 AQ4>A4Qg, AU, = AU,

AQ, <AQy, AU, <AL,
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AQ, <AQy, AU, <AU,

Question Number : 12 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
An HCl] molecule has rotational,

translational and vibrational motions. If the
rms velocity of HCl molecules inits gaseous
phase is ¥, m is its mass and ky is

Boltzmann constant, then its temperature

will be :
Opt_ions:
-2

mv

1 7Kg
-2

my
> Skp
=,

oy

g kg
sz
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Question Number : 13 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A string is clamped at both the ends and it
is vibrating in its 4" harmonic. The
equation of the stationary wave is
Y =0.3 sin(0.157x) cos(200rt). The length
of the string is : (All quantities are in SI
units.)

Options:

L 80 m

5 60 m



40 m

20 m
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U SR % ST T W S T T g a9
e A9 94 e ° O W W 5
ST T 1 HHIHI 2 Y = 0.3 sin(0.157x)
cos(200xrt). o9 SRl H TS B

(it ferr SI 7 # T 1)
Options:

1 80 m

5 A0 m

o 40 m

20m
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Options:

1 50 m

5 A0 m

5 40 m

20 m
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The pressure wave,
P=0.01sin[1000t - 3x] Nm ~ , corresponds
to the sound produced by a vibrating blade
on a day when atmospheric temperature is
(”C. On some other day when temperature
is T, the speed of sound produced by the
same blade and at the same frequency is
found tobe336 ms L Approximate value
of Tis :

Options:

L 12°C

5 11°C

5 15%

4. e
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. 1

5 11°C

5 15%

i 4°C
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Question Number : 15 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A capacitor with capacitance 5 pF is
charged to 5 pC. If the plates are pulled
apart to reduce the capacitance to 2 wF, how
much work is done ?
Options:

, 6.25x107°]

5 216X107°]

o ZEGRI0™S]

G
4 375x1076]

Question Number : 15 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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6.25x107 %]

[y

216X 106 ]
2.55%10°°]

3.75%x1079]
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Options:

, 6.25x107°]

5 216X107°]

o ZEERI0™]

A
4 375%1076]
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Correct Marks: 4 Wrong Marks: 1
A system of three charges are placed as

shown in the figure :

F 3

D—>

I =
qi—d—r g Q

[f D >>d, the potential energy of the system
is best given by :

Options:

1.4, q0d
4re,, d [}2



Z.
1 { q 2qQd ]
47 i -]2
= €o L L
1 q qQd
4me, d D2
4
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Opt_i ons:

1.
| 4 | {,:J' d
4re,, d D¢
2.
2
1 { q- 2qQd ]
4 1 ]2
= €o L L
5
1 q- qQd
dme, d D2
4,
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Question Number : 17 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A wire of resistance R is bent to form a
square ABCD as shown in the figure. The
effective resistance between E and C is :
(E is mid-point of arm CD)

A B
D E C
Opt_ions:

‘.‘

— R
if 4

1 %

16
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. 4

LR
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Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Determine the charge on the capacitor in

the following circuit :

é ::n

29y 40> 100> =10 uF
L]

Options:

.
p, 20C

200 pC
60 wC

10 pC

Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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i 10 pC
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Options:

3
, 20E

, 200pC

5 00 nC

, 1ouC

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A rectangular coil (Dimension
5 cmx 2.5 cm) with 100 turns, carrying a
current of 3 A in the clock-wise direction,
is kept centered at the origin and in the
X-Z plane. A magnetic field of 1T is applied
along X-axis. If the coil is tlted through
45° about Z-axis, then the torque on the coil
is :

Options:

) 0.27 Nm

5 0.55 Nm



5 0.38 Nm

4 0.42 Nm
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Options:

i 0.27 Nm

5 0.55 Nm

5 0.38 Nm

4 0.42 Nm
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Options:

) 0.27 Nm

5 0.55 Nm

5 0.38 Nm



4 0.42 Nm
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A rigid square loop of side “a’ and carrying
current I, is lying on a horizontal surface
near a long current I, carrying wire in the
same plane as shown in figure. The net

force on the loop due to the wire will be :

I I

W

a

Options:

. Zero

) .p, |
Attractive and equal to o
2_ = i1

.}‘LD L1,

Repulsive and equal to for

3,

I1
Repulsive and equal to %
4. 21r
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The total number of turns and cross-section
area in a solenoid is fixed. However, its
length L is varied by adjusting the
separation between windings. The
inductance of solenoid will be proportional
to :

Options:
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The magnetic field of a plane

electromagnetic wave is given by :

B=Bg i [cos(kz — wt)] + By jcos(kz + wt)

where B;=3x10"°Tand B,=2x10"°T.
The rms value of the force experienced by
a stationary charge Q=10 tCatz=0is
closest to:

Options:

;. 0.6 N

> 3x10~<N

5 09N

i 01N
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Options:

;. 0.6 N



5 3x10~-N

o 09N

i 01N
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Options:

: 0.6 N

5 Ix107-N

5 09N

i 01N
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A concave mirror for face viewing has focal

length of 0.4 m. The distance at which you
hold the mirror from your face in order to
see your image upright with a
magnification of 5 is :

Options:
0.16 m
1.

5 1.60 m

3
5 0.32m



0.24m
4.
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;. 0.16 m

5 1.60 m

3
5 0.32m

024 m
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Options:

;. 0.16 m

5 1.60 m

)
5 0.32m

0.24m
4
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The figure shows a Young's double slit
experimental setup. It is observed that
when a thin transparent sheet of thickness
t and refractive index p is put in front of
one of the slits, the central maximum gets
shifted by a distance equal to n fringe
widths. If the wavelength of light used is
A, t will be :

i

Screen
aII
D
Options:
DA
: afp. — 1)
nDA
5 alk — 1)
2DA
5 alw — 1)
2nDA
4 alp — 1)
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Taking the wavelength of first Balmer line
in hydrogen spectrum (n=3 to n=2) as
660 nm, the wavelength of the 2™ Balmer
line (n=4 to n=2) will be :

Options:

] 488.9 nm

5 8892 nm

4 388.9 nm

4 642.7 nm
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fg BEErM TF2H ®I 99 aFE @6 (n=3
T n=2) F T 660 nm, B 1 THI 9
T (n=4 Hn=2) = Tame=d 2 ;
Options:

] 488.9 nm

9
5 889.2 nm

g 388.9 nm

i 642.7 nm
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] 488.9 nm

5 8892 nm

4 388.9 nm



642.7 nm
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The electric field of light wave is given as

2wy

— . [ N oA
E = 10 cos| 27 X 6 % m”r|x¥

L5x 1077 J
This light falls on a metal plate of work
function 2eV. The stopping potential of the
photo-electrons is :

2375

Given B (io 6V)= -2
Nin A)

Options:

, 072V

048V
248V

20V
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Options:

i 0.72V

5 048V

g 248V

i 20V
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An NPN transistor is used in common

emitter configuration as an amplifier with
1 k{) load resistance. Signal voltage of
10 mV is applied across the base-emitter.
This produces a 3 mA change in the
collector current and 15 pA change in the
base current of the amplifier. The input
resistance and voltage gain are :

Options:
] 0.33 k12, 300

5 033 k82,15

5 0.67 k£, 300

4 0.67 k0,200
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Options:
] 0.33 kf2, 300

5 033k, 15

5 0.67 kL2, 300

4 0.67 k02, 200
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;. 0.33 k€2, 300

5 033k, 15

5 0.67 kL2, 300

4 0.67 k02, 200
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A signal Acoswt is transmitted using
U, sinwgl as carrier wave. The correct
amplitude modulated (AM) signal is :

Options:
U, Sinwt + Acoswl

5 (g + A)coswt sinwt

; A . . Ao \
Upsinm, t+ — sin|w, — o]t + T-‘iml“’n'i' w |t
= 2 2

L %0 sinfwy(1 + 0.01Asnwt)t]
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TF 99 Acoswt T 9 dE® a7
U, Sinw;t Y foran = 21 wE A Aigfad
et 2
Options:
U, sinwt + Acosmt

5 (g + A)coswt sinwt

; A . . Ao \
Upsinm, t+ — sin|w, — o]t + T-‘iml“’n'i' w |t
= 2 2

L %0 sinfwy(1 + 0.01Asnwt)t]
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v, sinept Al 5E42 ddls Guapt s{H 25 (B
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Options:
U, sinwt + Acosmt

5 (0y+ A)coswt sinwt
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If ‘M’ is the mass of water that rises in a
capillary tube of radius “r’, then mass of
water which will rise in a capillary tube of
radius ‘2r’ is :

Options:

;. 4 M

2M
2.
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Options:

;. 4 M
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Options:

;. 4 M
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A moving coil galvanometer has resistance

50 2 and it indicates full deflecion at 4 mA
current. A voltmeter is made using this
galvanometer and a 5 k{} resistance. The
maximum voltage, that can be measured
using this voltmeter, will be close to :

Options:

7
;. 10V

5 15V

5 20V

4, WY
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The major product of the following reaction

is :

CH,CH=CHCO,CH, — 2,
Options:

, CH;CH,CH,CO,CH,

5 CH,CH=CHCH,OH

. CH,CH,CH,CH,OH

, CH;CH,CH,CHO
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fretfafaa sfafean =1 &9 see #

Options:

, CHCH,CH,CO,CH,

5 CH,CH=CHCH,OH

. CH,CH,CH,CH,OH

, CH,CH,CH,CHO
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Al sl ulsael wud Aluse wiul)

CH,CH = CHCO,CH, —=2

Options:

, CHCH,CH,CO,CH,

, CH,CH=CHCH,OH

. CH,CH,CH,CH,0H



, CH,CH,CH,CHO
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The increasing order of reactivity of the
following compounds towards aromatic

electrophilic substitution reaction is :

l OMe Me CIN
e ”ﬁ L:: f’ln:;
(00
et *«.--:“ T -
A B o D
Options:
1 A<B<C<D
5 D<A<(C<B
= D<B< A<C
4 B<C<A<D
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4 B<C<A<D
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The major product of the following reaction
15 :
(i) DCI (1 equiv.)

CH3C=CH (i) DI .

Options:

, CH,CD,CH(CI(1)

, CH.CD()CHD(CI)

. CH,CD(C)CHD(1)

CH,C(I)(Cl)CHD,
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frefafas sfafrs =1 9= 3= §

(i) DCI (1 wuge)
(ii) DI ’

CH3C=CH

Options:

, CH,CD,CH(C)(T)

, CH,CDMCHD(CY
. CH,CD(CHCHD()

CH,C(I)(C1)CHD,
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Al el ulsel o Ayer 2ll?
(i) DCI (1 equiv.)

CH3C=CH

Options:
) CH,CD,CH(CI)(T)

, CH,CDICHD(CY)

. CH,CD(CHCHD()

CH,C(1)(Cl)CHD,
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Which of the following statements is not

true about sucrose ?
Options:
On hydrolysis, it produces glucose

1 and fructose

[tis a non reducing sugar



The glycosidic linkage is present
between C, of a-glucose and C, of

5 B-fructose

Itis also named as invert sugar
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The major product of the following

reaction is :
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&
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The major product of the following
reaction is :
_ (1) KOH (alc))

(" {2) Free radical
polymerisation

.

Cl

L

Cl

Options:

1

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
frfafan sAfafra 1 7e 3= 2
(1) KOH (alc)
‘“‘T (2) 3% e
T

y Cl



Options:
l: | | ]n

1
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Al el ulsel Yoot Ay 2lial 7
(1) KOH (»uesiélfas)
Y (2) s e ]
ogelsael

P Cl
Cl

Options:



1
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Correct Marks: 4 Wrong Marks: 1
The major product of the following

reaction is :
CH,CH3y

(i) alkaline KMnQy :
(i) H3O*

Options:



COCH3

2

COOH

a

CHoCHO

ay

CH,COOH
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Fre1 sifaferan =1 9= SR 2
CHyCHjy
(i) &= KMnOy4
(i) H3O "
Options:
COCH3
1.
COOH



CH,CHO

aY

CH,COOH

A
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A2l il 2l Alysr

CH,CHj

(i) 2ilesadA KMnOy
(ii) H3O "

e

Options:
COClH3

a

COOH

a

CHoCHO

ay

CH,COOH

A
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The organic compound that gives

following qualitative analysis is :

Test Inference
(@) Dil HC1 Insoluble
(b) NaOH solution soluble
(c) Br,/water Decolourization
Options:
O _~OH
1.
‘ ~NH»
e
‘/OH
o
__,JNHE
4.
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(c

g
3
"
E
E
3

Options:



~OH
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sleflds dllord o Al2l 2uudl speucus s4él
2 8 o 20el

5412l R
(a) g HCl AL

(b) NaOH + gl al=d
(©)  Bry/ el 291 [alélszel

Options:
~OH
1.
~NH»
23
-OH



ot NHE
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The correct [IUPAC name of the following

compound is :

e

¢ L
0)

T cl

“Hj

Options:
) 5-chloro-4-methyl-1-nitrobenzene
5 2-chloro-1-methyl<4-nitrobenzene
5 2-methyl-5-nitro-1-chlorobenzene
4 3-chloro-4-methyl-1-nitrobenzene
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frefertaa it =1 W&l [UPAC 9 & :

NO,

L
.-"'f R

I\__ _#,.:
~"a
b,
Options:
| S AT 1TSS
5 2-FAN- 1-Hi A 4-As2 =i

5 2-HiIA-5- 521 1- T



4 AR 1TSS
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UL Hllorete] 412 TUPAC A 240 -

NO,

KJ\

[ Y

. '\____/'

HHH -";.P-\[:l

by

Options:
. 5-sdlzl-4-Fada-1-de il
, 2-slzl- 1- s d-4- 12 1ol
o 2-Bada-5--Egl1- szl
. 3-5el3-4-Pasa-1-dg (=

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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Correct Marks: 4 WrongMarks: 1
Aniline dissolved in dilute HC is reacted

with sodium nitrite at (°C . This solution
was added dropwise to a solution
containing equimolar mixture of aniline
and phenol in dil. HCL. The structure of

the major product is:

Options:
7N 7 N\
¢ D-N=N-NH
', Fd , Fa
1 . rm—: b =
A Wy J.-‘; Wy
4 M 74 »
—N=N-0-— y,
\__/ N/

o M=t '-. i



\ b
k. J\

__,{f x_}k .f"_

% N N= M—f ‘*‘*—mn

4 x\x—.a’f x—/
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a1 HC1 ¥ Jel g5 UfAe™ = Hif<g A5Ee
* |y 0°C W AAfufwga faan s 2
oo 1 Ufere a=n foFiel < 9eEmeE fHam
& @1 HCl f9e=7 § 9598 % fHemn
T = IR i TEEATE

Options:
¢ \ N=N_NH-¢ \
, - _{K f;:l
1 e R = f-'
P %
rﬂ I_/ i,
< »N=N-0<" )
__ N/
o Moy 1 r i
.-"—l.
an
' ‘r— N=N
4 K "NHE
3 =

A X
& N N= M—-{’ ““— OH

\\x —./f x—/
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wHdlH A e HC w0 2euel ol aila
ABZ182 HE 0°C Uz ulsL s2el =14 8. =i
aleeA 20 20 g HCT Hi et 2l 24
[rletrl usien Meeml GHacml »ud 6. dl
oy Alysr A ciERel 2adl?

Options:



/" N 4 N
/

/ ), s ol N
¢ S N=N-NH~ N
\.\ .K.- \'1,_ _,-'f
1 L . Fi -
F hy
i oy Y
rd N,
C -N=N-0L )
L1 _."f "\ 'I.:-
o S b i
N .
)"f? R P i 5,
( —N=N-— —NH»
\ % 4
= el !
A W . N
P \ & N
{ N N =N— “_OH
\' .I{' ‘\"\.‘ .l-lf
W \ Fy
4 % i ) Nt
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The element having greatest difference
between its first and second ionization
energies, is :

Options:

g, =

Ca

Ba
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Correct Marks: 4 WrongMarks: 1
gy 991 f5ag 9 S F =" e
FRfoaaade 9=y

Options:

1.]{

5 Ca

Ba
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cAred & oAl Al may 2 (gl suadlszer alsqa
2l csied el 94f © d

Options:

i B

5 Ca

Ba
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The ore that contains the metal in the

form of fluoride is :
Options:
: sphalerite

cryolite
2. ‘
5 magne’rite

i malachite
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e T a1 TeiNEE F ¥ U H €, 98 ¢ ¢

Options:
1. Fa;t_;l]-ufba

P 5‘\ :

5 HTRETSE
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siel e, (ws) 5 o/l A of SARIBS 3U B
d

Options:

| XlERIEe

5 slAlAge

. e

4 HAge
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The number of water molecule(s) not
coordinated to copper ion directly in
CuSO, 5H,0, is :

Options:

i B

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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CuSO, 5H,0 H, =9 HAIA & 919 914 &9
Y Iqgegdfsd &l e aeyar 99 &
ﬂ(fﬁﬁ} FEEE

Options:
1

1
2
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CuSO,-5H 50 Hi 5143 2l 22 dlle 2ie0{f
o Sl ool Wil prepAdl Hve s

Options:

!
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Magnesium powder burns in air to give :

Options:
MgO only

Mg(NO,), and Mg.N,
3 MgO and Mg,N,

, Mg0 and Mg(NO,),
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Friform geet 9] § sl o1 © ;
Options:

MgO HH

Mg(NO;), 791 Mg-N-



. MgO T Mg N,

, MgO @1 Mg(NO,),
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Horl[B 1AL 045l S B S2ell 3 HA )

Options:

, 8 MgO

5 Mg(NOy), “#1 Mg;N,
. MgO 1 Mg;N,

, MgO 2 Mg(NO,),

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The correct order of the oxidation states
of nitrogen in NO, N,O, NO, and N,0,
is:

Options:
, NO,<NO<N,0;<N,O

, NO,<N,0,<NO <N,0

. N;O<NO<N,0, <NO,

, N20<N,0,<NO< NO,

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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NO, N,O, NO, @1 N,O, ¥ AEZeA &I
ST STEEN = HWEl F9 © ;

Options:

. NO, < NO <N,O; < N5O



NO, <N,0,< NO < N,O

. N;0<NO<N,0,<NO,

N,O < N,0, < NO < NO,
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NO, N,O, NO, 211 N,O, 4l -gglsr-l
AL UA AHR2AAL 20 5HL5 2L

Options:

, NO, <NO<N,0;<N;0

NO, <N,0,<NO <N,0

. N;O<NO<N,0,<NO,

N,O < N,O, < NO< NO,

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Cb“, an allotrope of carbon contains :

Options:

i 20 hexagons and 12 pentagons.

5 12 hexagons and 20 pentagons.

16 hexagons and 16 pentagons.

i 18 hexagons and 14 pentagons.
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AT F UF ATETC, , H e 2
Options:

| 20 WS TA112 TS



5 12 WS q91 20 TS
o 16 TS T 16 7949

, 18 NS qAI 14 EEEE
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C, Steltell 245 “ig34 (allotrope) 2 RI9L 87
Options:

L 20 Mzl A 12 Rsiel

, 12 M2slell 21 20 Nausiel

5 16 MBI =i 16 \slel

4 18 Mastell »i 14 vasiel

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Match the catalysts (Column I) with
products (Column 1I).

Column I Column 11
Catalyst Product
(A) V.05 (ij Polyethylene
(B) TiCl,/Al(Me), (ii) ethanal
(© Pdd, (i)  H,SO,
(D)  Iron Oxide (iv) NH,
Options:

p (AR(E); (B)-(ui); (O)-(1); (D)-(iv)
o (AR(v); (B)-(iit); (C)-(i); (D)-(i)
o (AR(iD); (B)-(v); (C)-(1); (D))

4 (A)-(HL); (B)-(1); (C)-(i1); (D)-(iv)
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I (T 1) 1 361 (HTed 11) F

e FHAT HIT0

FTH | &HTeTd 11

o C 3T
(A) V5,0, (iy A
(B) TiCl,/Al(Me), (i) U=
(C) PdCl, (iii) H,SO,
(D) o9 e=EEE  (iv) NH,
Options:

p (AR(E); (B)-(ui); (O)-(1); (D)-(iv)
o (AR(v); (B)-(iit); (C)-(i); (D)-(i)
o (AR(iD); (B)-(v); (C)-(1); (D))

4 (A)-(HL); (B)-(1); (C)-(i1); (D)-(iv)
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GElSL (2ot 1) L lusd (2ot 11) 418 AL -

2ty | 2ty 11

Gelyst Alysa
(A) V,0. 1)  dldalldl
(B) TiCl,/Al(Me), (i) &aud
(C) PdCl, (iii) H,SO,
(D) 208+ 25485 (iv) NH,

Options:

p (AR(E); (B)-(ui); (O)-(1); (D)-(iv)
o (AR(v); (B)-(iit); (C)-(i); (D)-(i)
o (AR(iD); (B)-(v); (C)-(1); (D))

4 (A)-(HL); (B)-(1); (C)-(i1); (D)-(iv)



Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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Correct Marks: 4 WrongMarks: 1
The one that will show optical activity is :

(en=ethane-1,2-diamine)

Options:
A
A~ |
~ | T%
~MC en
SET TG )
Bl ==
1 B
i
B— i — B
S
.-""‘ML"'-\.
2 o
T
Ifr" = ; | .._f___,--’ ‘\._\
en M en
Y | s T | o
3 A
A
A = = B
. “-M”’""
Bl ~JA
4. B
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EIRC LR UIE T GG e
(en= TH-1,2-SEUHM)
Options:
A
A |
"'““‘-._L_ | ] = 3
_MC en
T B |
BL= =




A
B—-"J——B
.
“MZ
2, A
i
T TR
en M en
'\M Al = 4
<3 A
A— _B
M
BL— —IA
4, o
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o 5o/ U513l Bsllad sald o 4
(en= 981, 2-s1H=1H1EA)

Options:
ds
A h i f !
~MC en
-.-___..-""’f -\-..‘-.-\-H-\"\-\_ __.-"/.
B - =
1 B
s
B = —— B
g
- M o
A
2.
T
.r"# E“‘“-.h | H____,a-’ ‘\__\
en M en
b J’_,--""' T ’,
A



B
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The degenerate orbitals of [Cr(H,O) ] *
are :

Options:

1 .2, 2 and d__fer

d,. and dy:
d-oandd._.
3_ 2 XZ

5 d?: and d.2
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[Cr(H,0) P+ % ATaifad &4 ¢ :

Options:

. d.2 > adn dl,y

d:c: a=n djf:
d>T9ard,__
3. A XZ

7 dy: a4 d,2
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[Cr(H,0) 2 * Al dsvte smisl 587

Options:

de2_pwd,
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Correct Marks: 4 Wrong Marks: 1
Excessive release of CO), into the

atmosphere results in :
Options:
] depletion of ozone

5 formation of smog
3 global warming,

y polar vortex

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
T H CO, T HAAfT s =1 qiom
3

Options:

| TS T A

5 A A T
o e T

¥ %ri?il YA (vortex)
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UMM 4 Usdl CO, 4l Hsct 2l 3]
SRR it 157

Options:



AL Y2isl

[y

5 BLYRRL A Yty

e b

t

| gelly sl (qum)

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
For a reaction,

Ny(g) + 3 Hy(g)— 2NH,(g); identify
dihydrogen (H,) as a limiting reagentin the
follow ing reaction mixtures.

Options:
: 14 g of N-+ 4 gof H,

5 2830£N1+Engan:

3 B gofN,+ 8gof H,

4 56301'N3+ I{]gosz
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SR IER

Ny(g) + 3Ha(g) > 2NHy(g) ¥ fam
Treafatan wfafwares fago 4 smemsen
(H,) 1 i s 3w i Tt -

Options:

5 NEETZSg-IFHEEﬂErg

3 N,=*35¢g + H, 8 g



NEETS{ig + Hl?ﬁllﬂg
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2wl
Nj(g) + 3Hy(g)— 2NHy(g) w2, -l
sl wlsa Bisel wie, sideidslae (H,) Rid
ulsys (limiting reagent) 5 ﬂlﬂlﬂ[:
Options:

1 N>, 14¢g + H,,4 ¢

5 NE,ESg +Hl,6g
5 N1353+ H,,8¢g

i N,,5%6g+ H,,10g

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Consider the van der Waals constants, a

and b, for the following gases.

Gas Ar Ne Kr Xe
a/(atmdm®mol ™7 13 02 51 4.1
b/(10"2dm'mol~! 32 1.7 10 5.0

Which gas is expected to have the highest
critical temperature ?
Options:

1. s

Ne

Xe

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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frefafas 46 F aretacy feris a a9 b
EEE eI a%ﬁrq :

e Ar Ne Kr Xe
a/(atmdm®mol %) 13 02 51 4.1
b/(10"2dm*mol~1) 32 17 10 5.0

freferfiad 5 9 feae foru sifas ar = qaifas
B T HHEAT 21 7
Options:

Xe
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Al 2L Rl MR dHASsE AL 2RAISL
a i b UMl Al
A Ar Ne Kr Xe
a/(atmdm®mol™?) 13 02 51 4.1
b/(10-2dm*mol-1) 32 17 1.0 50
izl 4y silas ansiq srtasiHl 20ie sl

Options:

Xe
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For any given series of spectral lines
of atomic hydrogen, let
AV = Vmax — Pmin be the difference in
maximum and minimum frequencies in
cm 1. The ratin'ﬂﬂ_}”m” / AVBalmer 1S

Options:

;. 27:5
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Y] FEESE % TEEd EH & 4 T
S| o ToTu e I=a9 a9 s g
H =T AV = Vmax — Vmin (Cm ]ﬁ]%fﬁ
aﬂqm.ﬁﬁl.y.'mdn /AVBalmer 2

Options:

;. 27 :5
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we vzl @dsir ol aelve el
s, sd AV = Tax — Pmin 2 HEdH
D ety A AL dsidd (om ! L) €
dl AVarud /AVemz Al el
2llel

Options:
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Among the following, the molecule

expected to be stabilized by anion
formation is :
G, O, NO, F,

Options:

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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freferfig o @, o] fogst B/oEE T
TTHFd 8 #1 H9ET 8, T8 8 :

C, 0, NO,F,

Options:
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aprdel sl s 2l el 2 ol 22l
el 2sHcl 97
C,, 0, NO,F,

Options:

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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Correct Marks: 4 WrongMarks: 1
Among the following, the set of parameters

that represents path functions, is :
(A) qt+w

B q

© w

(D) H-TS

Options:

. (&)and (D)
, (B)and ()
. (B), (O and (D)

, (4), (B)and Q)
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Correct Marks: 4 Wrong Marks: 1



frfafad 5 9, 9= %1 92 99=9 S 99
Ferl I YT, T

(A) qtw
B) q

C) w
(D) H-TS
Options:

. (A) @1 (D)
, (B) 7 (C)

. (B), (©) 7 (D)

, (A).(B) 71 ()

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Al i Usl, el sds o va [[aa
(path functions) £2lid £

(A) gqtw

(B) q

() w

(D) H-TS
Options:
. (8) 2 (D)
, (B) 21 (Q

5 (B), (O) »1 (D)

4mﬂﬁm
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Liquid ‘M" and liquid ‘N’ form an ideal
solution. The vapour pressures of pure
liquids ‘M" and ‘N" are 450 and
700 mmHg, respectively, at the same
temperature. Then correct statement is :

(xyy= Mole fraction of ‘M’ in solution;
= Mole fraction of ‘N’ in solution;
Yy = Mole fraction of ‘M’ in vapour phase;

y», = Mole fraction of ‘N’ in vapour phase)

Options:
M _ YMm
X T
1 XN L4
M, WM
Xy ]
5 XN U
g ” LAY
I. 7
5 *N N

(o — W) < (g —UN)

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Ml M 2wl ‘N7 2ugel glael e 9.
Ml A, g vl Moo N ey
ECl2L 2453, 450 21 700 mmHg 8. dl #12]
(S 54 &7
sedl  xy = M’ -l glAQMl Hld »ieL

xy= N’ Al gleerl WA il

Y= M AL sty 2l (saml) Wl

w3l
Y= ‘N’ Al iy 2o (saml) Hid
W3]
Options:
N _YM
N ¥N



=
x
M W
I T
= N N

. (e =¥ < (g —¥N)
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29 M 991 59 ‘N’ UF SS9 faee =90 € |
9SG 59 M 99 ‘N’ % 9% =9 39 a9 W
FHIA: 450 T4 700 mmHg T 1 HE FEE
T
TRl xy = oA § M e 3 ;
Xy = oo™ 5 ‘N’ =1 9o 39 ;
Yy = T STETAT H ‘M HIeR 39 ;
Yoy = SO SR H N HIOR 39
Options:
M _ M

M M
X~ ]
2, YN
M . WM
2 Xy W
4 (o =¥ < By —¥N)
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Correct Marks: 4 WrongMarks: 1
The osmotic pressure of a dilute solution
of an ionic compound XY in water is four
times that of a solution of 0.01 M Ba(l, in
water. Assuming complete dissociation of
the given ionic compounds in water, the
concentration of XY (inmol L.~ !) in solution

is :



Options:
, 4x1072

- 1
5 16 x 10

= hx10" -

; 4
i 410
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WA § UFH AEAF AT XY F 97 faema =
T =74, 0.01 M BaCl, & v H faerem
& TETE 2E AR A E | T T st
il 1 w1 § fodreH 9l 99 3y, faeraa
H XY 1 HWigal (mol L- 1) 2 ;
Options:

;. 4x10 2

- 1
5 16 x 10

= px10 =

_ 4
i 4x10
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2EALS Hlar XY A weltl s e gl
2[GapeL geitt, 0.01 M BaCl, Al welll vi-dg
SlAGL AR 2AL] B, URLE AL 2uHlAs gl
yellui dyel ([derd 2 8. dl gl
XY (mol L~ 4i) « gl 2liel?

Options:

, 4x10-2

- 1
5 16 x 10

= bx10" -
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The standard Gibbs energy for the given
cell reaction in k] mol ~ ! at 298 K is :

-;{n(s} + Cu?t(aq) —» Zn? (aq) + Cu(s),
E*=2Vat298 K
(Faraday’s constant, F=96000 C mol h

Options:

2
;. 192

384
2.

- —384

—-192
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fea T4 "e sAfafEa % fau 298 K ™ A9
/= 911 (k] mol 13) & .

Zn(s) + Cu”* (aq) — Zn*" (aq) + Cu(s),
208 K 9T E°=2V

(TFre feemia, F=96000C mol ~ ')

Options:

2
;. 192

384
2.
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298 K =, =15 sl wHUlBid das2ls die-allum
2V 8, 208 K =i A= 2ddl ml e weuldia
3o God k] mol ~ ! i 2lidl :
Zn(s) + Cu’t(aq) — Zn”"(aq) + Cu(s),
(3315 Al 2=9is F=96000 C mol ~ )
Options:

;. 192

384
2.

- —384

—-192
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The given plots represent the variation of
the concentration of a reactant R with time
for two different reactions (1) and (ii). The

respective orders of the reactions are :
(i) (i)
In[R] Rl ™~

Options:
0,1
1

5 L0

1,1
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Correct Marks: 4 WrongMarks: 1



A= fod ™ e, A afafEmE (i) 99 (i)
F fou, sifisrdsr R &1 9rs=a1 1 999 & W1y
BIETe! e =1 iy e € | Arfmae

& FHE FIET
(i) (i)
In [R] N s [R] PR

Options:
0,1
1.

5 1,0

= 1.1

0,2
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Al 2t 2uduil, A sgEl-sggl el e,
Wl W uls4s (R) ol Wigdil 2cl 51
[HE2lH 52 8. ulpuiAlL 53 w4sd 6 ¢

(1)

Options:
0,1
1.

5 1,0

= 1.1

0,2
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Correct Marks: 4 Wrong Marks: 1



The aerosol is a kind of colloid in
which :
Options:

liquid is dispersed in water

gas is dispersed in Liquid
5 gas is dispersed in solid

solid is dispersed in gas

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
wEE U U Rl 8, fod
Options:

; o ¥ g9 uffEd 2

, @ ¥ T iy 2

5 219 H T a2

, T 2 ufifea ¥
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Ay (e (aerosol) 21 =l usiz-l sl © 3
o/l

Options:

, el vl Bgud

5 el sy g

5 Bl av [ae

4 UL Bt (s
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Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If the function f: R—{1, -1} — A defined
' 2

by f(x) = ,'lx—,xz is surjective, then A is

equal to :

Options:

, R-[-1,0)

5 R—{-1)

. R-(-1,0)

4. 19
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No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

I

[

AR FfR—{1, 1] A, f(x) = 1_
x

ST O & a9 e (surjective) &

AT T

Options:

. R-[-1,0)

” R—{-1}

. R-(-1,0)



4, [0, <)
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£

o Bl f: R—{1, ~1f 5 AR f)=—

gzl cqivyl[dd cuind [dy sy, dl
A=

Options:

., R-[-10)

Z. .R 2

. R-(-1,0)

0=
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No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
All the points in the sel

[ ti | . . =
g=42 -:aeR; (1= 1) lieona :

laa—i

A
Options:
i circle whose radius is JP_. ;

3 circle whose radiusis 1.
straight line whose slope is 1.

i straight line whose slope is —1.

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

i . i1

[ . :
gead S={—:aeR}(i= V1) &

o—1
it foig form e oo & T & -

Options:

4



. w g fomat foean V2 3
o 9 ot e
- T W Y formeh 21 (slope) 121

T BTl v o e - 12
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|o+1

A 5= jiﬂEHFU=ﬁ 1) Wil das
| o J

=l ws.

Options:

. il Bseu V2 gt et g

. syfl Bloadl T €1 detl ada

o orila 16 ol

, LA — 1€ adl v

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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Correct Marks: 4 WrongMarks: 1

Let p, qe R. If 2 J3 is a root of the
quadratic equation, x>+ px +q=0, then :
Options:

, PP—4q+12=0

, T—4p-16=0
5 p?—4q-12=0

“+4p +14=0
g 3 7TF

Note: For this question, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.
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Correct Marks: 4 WrongMarks: 1

W p, q e R, AE 2 3 TgumEr weimo
x1+-px+q=ﬂﬁﬁlﬁ1ﬁ%,ﬁ1:

Options:

1 p-—4q+12=0

5 q-—4p—16=0

. PP—4q-12=0
Z4+4p+14=0
ol B

Note: For this question, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.
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QAL p,qeRS. a2 — V3 3 gaud wlszel
X2+ pr+q=0 25 ofler €, ol
Options:
2 2=
, P 4g+12=0

5 q-—4p—-16=0

, PP—4q-12=0
“+4p +14=0
e B

Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options are chosen.
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Let « and B be the roots of the equation

x2+x+1=0. Then for ¥=0 in R,

.L.r H1 o [
@ yp is equal to:
B 1 yta

Options:



i H{HE_ '1]

> ¥l

y(y*—1)

e
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HAT o T B, THEFI 22+ x+ 1 =0 T %,
.];‘ +1 v B

ARHyz0Ffe | ¢ YIEB 1 e
B 1 ¥+

2

Options:

1 L”:L"__?’]

s ¥l
y(y*—1)

4 ¥
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ol o 2 B 2 WSl 2 +x+1=0 AL oflsy

y+1 o B
€, dl y=0, el Wy @ ¥R d
[ 1 ¥ ta
Options:
1. y{xlfz_:-%]

> ¥l



5 Yy'-1)

=
1

i ¥
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E 1o oo i

1 n
then the inverse of [D 1] is:

Opf[ions:
[1 0
12 1

1. =
[1 0]
13 1

5 !
'[1 13]
0 1

=,

M -12
0 1
4,
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s

[t R apt fs

.In

2 [D 1] %1 =oFH (inverse) 2 :

Options:

1 0
12 1
1.



1 ﬂ]

13 1
2"

i 13]

0 1
e -

 -12

0o 1
4.
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s
T 1)1 2] 3] 1 n-1] 1 7
g sile o ™0 1) o FY.
b | 1 n_ I My
il 0 1_ Al 243 8.
Opf[ions:
[ 1 0]
12 1
1. =
13 1
2
_ yo
0 1
3 ™
_ i9
0 1
4 -
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Correct Marks: 4 WrongMarks: 1
A committee of 11 members is to be formed
from 8 males and 5 females. If m is the
number of ways the committee is formed
with atleast 6 males and n is the number of
ways the committee is formed with at least

3 females, then :



Options:
, h=m -8

m=n=78
m=n=63
=

m+n=68
4.
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8 TE°l a1 5 Higensdi H 9 11 =i =l TF
FHA TG T E | At FH T FH 6 TEul Tl
AT FH T F n TF 8, o

Options:

1 n=m-—~8

m=n=78
m=n=~68
=

m+n=~88
4.
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8 Y3l 2 5 2=fl2il wizll 11 el #is ubdl
Al 22l SRl e B, ad UL 2L 6 YL
ezt | 2Pl 22l Zlal AL v m 2 =i
Al 3 2ol @zl {22l Dl He
n e, dl

Options:

; h=m-— 8

m=n=78

m=n=63
=



m+n=~68
g
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Let the sum of the first n terms of a

non-constant A.P., 8y, 8gp Bap weereniens be

x (n — 7 ;
50n 4 M.ﬂl , where A is a constant.

o

If dis the common difference of this A.PP.,
then the ordered pair (d, a5;) is equal to :

Options:
, (50, 50+46A)

o (A 50+46A)

. (A, 50+454)

, (50,50+454)
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b e O 2 M -4 B 1 O £ KR A
(non-constant A.P.) By Aoy By s sivvv v +F 999

n T8 = IRTHEA 50n A M;—ﬂ %r R

s ]

A TH I | A2 50 GHIR I 1 AE T
d %, 1 FHd T (d, a,,) TE R :

Options:
. (50, 50+46A)
5 (A, 50+46A)

. (A, 50+45A)

, (50,50+454)
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QEL 5 w0 A ¢ adl quiar 2ell (AP)
Ay, Ay Ay e Tl MM N UEIHL AL

n(n—7)
—

50n AB. sdl A 20 8, sd d 2

DL Ui AL MMl s €4, dl 535
od$ (d, asy) =

Options:
. (50, 50+46A)

o (A 50+46A)

. (A, 50+45A)

, (50,50+454)
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Correct Marks: 4 Wrong Marks: 1
; I_i_:r_‘
flat+k)=16(217-1)
k=1

Let , where the

function fsatisfies f(x+y)=f(x) f(y) for all
natural numbers x, yand f(1)=2. Then the
natural number ‘a’ is:
Options:
2

1.

16
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10
N, | - —— Iﬂ ") "

AT S,f(‘” K)=16(2" -1 2 ol et
=1

9TFd el x, y F fau, wed
flx+y)=f(x) fly) 1 T T E q=0f(1)=2
T T 9T T A’ TR

Options:

1.

16
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10

ahy 2 fEHOTINE D o it g
=1

A Ueds glas dvdl @ wid y He
fix+y)=fin)fly) - 4™ B a2 f{1)=2.
Uiglds dva‘a’ =

Options:
2

1.

16
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If the fourth term in the Binomial expansion

6
2 T "'I 5 -
of (— ¢ x1%88% | (x> 0)is 2087, then a
X J

valueof x is :

Options:
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' 6

. N N

a‘ﬁc:fi - 21088 | (x> 0) F feTE TR
WX )

AT 92 20 x & &, Al x 1 0F 7F 2 :

Options:

2
1. 8

v ]
I-a
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ra

w5 i . /Y0 ;
| =+ 28 | (x> 0) - gl Biadzend
X J

2412 E 20 x 87 &, dlx Al Bud 8.

Options:

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



X . ) T )
If the function [ defined on [Ef ;| by
3 3] "

[ 2 cosx—1 xF—

f(x)=1 cotx—1 f 2
| k, r=—

is continuous, then k is equal to :

Options:

1
4 V2
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afz e E %Jmmmqﬁmﬁﬂ%

|2 cosx—1 X+
ff f(x)=1 cotx—1

L k. T

qad 8, A k TE T

Options:

1
4 V2
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:I |'_
i \ |v2cosx—1 y+ 1

L L e 4
o [5' 3w f(x) { cotx—1 G
| & -
glrl cqivql8d (Qdd f ddd eld, dl
k=
Options:
2
1
1
5 2
3 1
1
4 V2
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Let.f{x}= 15— |x—~10|; xe R. Then the set of
all values of x, at which the [unction,
g(x)=f (f(x)) is not differentiable, is :

Options:
;. {10}

, {10,15)
. 15,10, 15)

4 {9, 10, 15, 20}

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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T f()=15--10;x e RE Tx F A
g4t HET ®1 9q9=4, 99 9T wed
8=/ (f(x)) SThera 7 €, 2 -

Options:

, 110




, {10,15)
. 15.10,15)

4 {5, 10, 15, 20}
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Gl 5 f(x)=15-|x—10|; x e R 8, dl [Qdx
g()=f (f(x)) [Esadld 4 ¢l dell x Al

-,

(Eudl-l 2121 89,

Options:
;. {10}

, {10,15)
. (5,10, 15)

4 {3, 10, 15, 20}

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Let S be the set of all values of x for which
the tangent to the curve
y=f(_r}:x""— x>—2x at (x, y) is parallel to
the line segment joining the points (1, f(1))
and (—1, f( —1)), then S is equal to :
Op_tions:
1 4}
Tar ]
g 3

, 1}

pr— L
| =
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HAS, x 3 = |t 79 F1 wg=a B, T W
T y=f(x) =x" — 22— 2x % Tag (x, y) WA=
g oS g (1, f(1) 990 (—1, (- 1))
=1 THel =16l TErave F 99 8, 91S 3
T

Op_tions:
{i, 1}
(3
1:
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(iRl 5 2101 S wl x Al el du Budidl el &
Seallas y=flx)=x"—22—2r 4 (x,y) g2l
BRA 2uzls = [Bgal (1, (1) 24 (-1, 1)
o sASell Tuu{iA MR Sl dLS=

Opf[ions:
51
1 |3 ;
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If f{x) is a non-zero polynomial of degree
four, having local extreme points at
x= -1, 0, 1; then the set

S={xr e R:f(x)=f(0)}
contains exactly :

Options:
two irrational and two rational

1 numbers.

two irrational and one rational

- number.

four rational numbers.

four irrational numbers.
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7% f(x), =T =R =1 T I 9g9E ¢, fomF
T =g fagx=-1,0,1 W o 9=
S={x e R:f(x)=f(0)} & ur :

Options:
. <1 AT 99 31 9T T |

, S AUREA T T 9T W gl

5 TR U HEA ¥

3 A ST HE E
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o flx) 24 el Y Aqald AguEl © 5 o
x=—1,0,1 211 224 2ucdilds g 9.
dl 38l S={x e R:f(x)=f(0)}, 2 R
e 5,
Options:
| PRER B o R vl

5 o DAY v O A vy

5 R UYL Hu

4 AR DAY AL
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; v s 43 4
The integral ‘I'EECJ x cosec™/ %x dx is
equal to :
(Here C is a constant of integration)
Options:
3ot M3y + C

3tan V3 + C

z.

tan 3y + C

e | L

i 3an Y3 + C
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O] J‘s,ec‘?*’( 3x cosec®3x dx T T -

(F@ C UF A 97 )
Opt_ions:

) 3cot V3% + C



J o I S
3 I
4__t=m x + C
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4/3

- "J ¥
Isec*f"'ix cosec ' “xdxy =

-

(24l C 21 2isanAL »rRmis 9)

Options:
1 Jcot V3 4+ C
3tan M3 + C
3 g
2an 3%+ C
= 4
i 3 tan V3 + C
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mf2

J %m 3 5 d
.
The value of R =" is:

Options:
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/2 3

j sin” x A .
} sinx + cosxy FHAAE :
[

Options:
m—1

m‘
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w2 . 3
SN X

.(:'a'.l

—dx .
.[ sin x4 CDH‘ Al (54t

0

Options:
T—1

m‘
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No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The area (in sq. units) of the region
A={(x, y) Xt = y=x+2}is:

Options:



(=]
o | 5

RN

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
FAA={(x,y): 22 = y<x+2) FHAFA (3
SHIEE H) ©
Options:
3

(=]
o | 5

RN

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

uEal A={x, ) :x*=y=x+2} 4 E=s0l
(2. =isy ui) 8.

Options:
31



ia
|5

*IE-

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The solution of the differential equation

d
xS 2y=2 (¢ 2 0) with y(1)=1,is:

Options:
- L% S
) 4 4x°
..
Y = v !
e s -
5 5x
= xZ | 3
T T 2
3 4 4x
1!' — i | L
; 5x°
4.

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

SAFA THEF xd—y [ ZL[Jr:xE (x = 0) =1

d—x

7 foms fe y(1)=1%, 2
Options:

g ‘_-1.2 | 1

‘ 4 4x?
1.
5 B 5x 2

Yy = i [ 3

' 4 4x*



1}:£|L
‘ 5 5x?

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

- d .
[asd wrlsael 1{1—5: f 25,!:12 (x = 0) sl

y(1)=1 -l G54 8.
Options:
3 o 1
y= —x" 4 5
4 4x
..
Y = 41'3 | !
Pk & =g
5 Sx
= xt | 3
T Th 2
5 4 4x
1!' — i | L
; 5 5x°
4

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If the tangent to the curve, y= x*+ax—bat
the point (1, —5) is perpendicular to the
line, —x+y+4=0, then which one of the
following points lies on the curve ?

Options:
s
, @)

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Aqfe o y=x" +ax —b * &5 (1, — 5) R &=
5 TI9E, Tl —x+y-+-4=ﬂ‘¥(?ﬁlﬁﬁ%’.ﬁ
f= 8 4 =9 o uw fag, o9 = fgm 20
Options:

;. (%=1

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
od i y=,1"1+zu:—b - (1;:=5) ﬁg“-?l AEC]
2u2ls Yol —x by +4=0 A dot i, dl A=A
wizdl 2 (65 =1 a5 ur 214 9

Options:

L@

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Slope of a line passing through P(2, 3) and
intersecting the line, x + y=7 at a distance

of 4 units from P, is :

Options:
J5-1

1 5 +1
1 \.l"g
1++/5
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Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

P(2, 3) ¥ B FT M 9 UH T@l, S
1‘-+-y=?31}'f P 9 4 THE & Eﬁ T gidesiaa
=+l 2, T BT (slope) ¥

Options:
W51
1 \-'I'g|1
1 \.l"g
o 1++/5
J7-1
= ‘JTI]
17
L 1447

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
P(2, 3) wizll wasz adl 2 ol x +y=7 « [@5
P ol 4 2isy 2 Sedl vz
8.
Options:
-1

1 \-"g|1
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Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If a tangent to the circle x> + y°>=1 intersects
the coordinate axes at distinct points I’ and
Q, then the locus of the mid-point of PQ
IS :

Options:

o X8 -
1 X +y=—2xy=0

x>+ 2 —16x2y>=0

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
AfE FA 22+ 2 =1 Fl T T o e 3
=1 fir fagadi P oo Q W fq=og w2t &, &
PQ F TeAfag =l f4394 (locus) & :
Options:

ol o o
1 X +y=—2xy=0

2+ =167 y?=0

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



s 4oL x” + 7 =1 Al 2ugls 1A [ B
P 24 Q Hi 82 dl PQ Al weuleig -l [Gigua

TR .
Options:
2 7 o
. +y=—2xy=0
- 7 o ) P
5 x+y—2xy-=0

=z 22 +-y3—41"1y3={]

¥ 2+ =167 y?=0

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If one end of a focal chord of the parabola,
y>=16x is at (1, 4), then the length of this
focal chord is :

Options:

j, 2

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
afg TEeTd y* = 16x Tl T A9 H TH
B (1,4) W &, o1 59 A(Sia1 FI o= ¢ :

Options:

j, 2



Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ol WRAdd 17 =16x «ll AlBswe wis 2iculeig
(1, 4) =00 ¢l dl 2 sl doud
A &.
Options:

L 25

24

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If the line y=11u’+?ﬁ is normal to the

3 “*
x° Y-
hyperbola — A 1, then a value of
> - 18
mis:
Options:

ol

1.
5
5 2
3
= \E
x-"E
4 2

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



afs 1"l y=mx+7/3, #HAfaIed

a %z 1 1 A9 &, 9 m F1 TF T

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
sd YL y=mx+7+3 21 @ildaay

-

Id

T ¥ 1 Qulbde diy, dlm Al Bad
24 18
&.
Options:

ol

1.
5
> 2
3

2 J5

J15
4 2

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



x-1 _y¥l =2
2 3 4
plane, x+ 2y +3z=15at a point P, then the

If the line, meels the
distance of P from the origin is :

Options:

1 7/2

5 9/2

L
3]
Fad
W]

b

.y B
aT]
—
[

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

4 x-1 y+1 z-2
Ifg T 5 4
x+2y+3z=15F fag P W fAerd & 1P =i
&aﬁqﬁgﬂ%
Options:

1 7/2

, HHAod

5 9/2

—
3 2V2

pa

J5/2

g ™

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

-

X I y+l z-—3 %

sl 31Ul 5 w2 N
x+2y+3z=15 - [Cg Pl w4, dl S5 P
Gornloigel »idz 8.
Options:
. 7/2
9/2

z
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Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A plane passing through the points
(0, —1,0) and (0, 0, 1) and making an angle

E with the plane y —z+5=0, also passes

through the point :

Options:

W2, -1,4

1

5 K N2, —1,—4)

. (V2,14

, (V2.1,4

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

faigati (0, —1,0) 910, 0,1) T &1+ FH Frel
.':1'
4
= F = $, et B @ feg fag @ A
T ?

Options:

W2, 1,4

U THAH, S HHGA y—z+5=0F Y

1



Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

(G521 (0, —1,0) =4 (0,0, 1) wisll w2 ug

S 1
Al WHdd y—z+5=0 W2

'1 AL eIl
bitletd M (O Hizll weL R
ZIDRSS
Options:
. (2,19

2 42,3, —4)

L 2,19

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

— A A — b 4 F
Let a=3i+j and P=2i-j+3k,  If
P = B1 P2, where P1 is parallel to ¢

—_— '__:‘
and P2 is perpendicular to g, then

B1 X B2 is equal to

Options:

%{ 3i49]45Kk)

1.

) %{3? 97 +5k)
) 3749 +5k
5 37-9;—5k

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

WA w=3i+j TN B=2i-+3k §1 AR
=2 =T = -;.._L -—3*-‘ .
B=PB1 B2 = By ofew o FEARE
a1 B wfew , ¥ wiEaa g, a1 B1 X Ba
AT ;

Options:

~(-3i+9j+5k)

A, PN

'1 M M o
—(3i-97j45k
2(I J )

2.
3i+9j+5k
3i-9j 5k

4.

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

W3 a=3i+j @ B=2i-j+3k. o
- = - o .\.—:* : "
B=PBy By sl B1 3l g A Wik 21
Po @l a Ado e, dl By % Pa

PR

Options:

~(-3i+9j+5k)

M, PN

g
—(3i-9j+5k
2( j )

2
314945k
3i -9 5k

4.



Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Four persons can hit a target correctly with

probabilities é, ; i and é respectively.
If all hit at the target independently, then
the probability that the target would be hit,
is:
Opt_ions:

25

32

25
192

Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
IR Sl % UF @9 9L 2 JER J JEl
. o g - W T
F F Mg FHm: —, —, — 941 — 2|
2°3" 4 8
Ifs g} =0 wed T Edd ®Y 4 YW 4 8, 1
A% T ST B9 1 9T
Opt_ions:
25
32

25
192



Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
2R Bt wE Feu dasul Hens il
w5y 2 i, S i E &, ad GUL o 2
= 2 3 4 8
A [HeuA ds, dl [Haud da ddl deus-t
8.

Options:
25

] 32

Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If the standard deviation of the numbers
—1,0.1, kis. \E wherek > (), then kis equal
to :

Options:

, Ve

Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



afz FEmai — 1,0, 1, k 1 A fa=em 5 2,
el k> 0% Ak 90aw & :
Options:

. 6

Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
sd ol —1,0, 1, k sl k >0 o wlSid
Brad 5 di, dl k=

Options:

Ve

Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The value of

cos=10° —cos10° cos5(° + cos=5(F° is :
Options:

t cos20°

3
. 4

3/4



3

;(1 +cos 207)
= =

3/2
4. /

Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
c0s210° — cos10° cos50° + cos250° =T 9 & :
Options:
3

— + cos20°
. 4

3/4

b |

(1+cos 20)

33
T
I

Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

cos210° — cos10° cos50° + cos250° -l [E4d
£,

e —————t

Options:

!—‘
M | T

(1+cos 20)

b |

23
T
(e

Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let S={0¢[- 2w, 27]: 2cos20+3 sinf=0} .

Then the sum of the elements of S is:



Options:
13

Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
HA
S={¢[ 21, 2] : 2 cos20 + 3 sin0=0} &,
1 S % SFFE] # AR €
Options:
13
1. 6

5=
> 3

!:i.l

Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Hizls
S={0¢] 21, 27] : 2cos>0+3 sind=0)
Al S Al HedieAl el 8,

Options:
137
1. 6

57
o 3



Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
For any two statements p and q, the

negation of the expression .pu( ~pAq)

15 :

Options:

TR

2. Py
.

S_P q
P

& PP

Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
foF=l 51 T p a q F fom, =e=
'p v(~paq)Hl [BERE (negation) g

Options:
T S
g RN
5 P7G
4 Ped

Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

siduel of [Badl p w4 g we, [Hzue

.pv{- p~rq) j{:lilil o 0.

Options:






